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1. Two hoys dig a garden in :? .lays. How long

would it take 1 boy to dig it?

2. Three men cut a field of hay in 3 days. How

long would it take one man to cut it?

3. Three boys pick up the potatoes in a garden

in 2 hours. HoW long would it take one boy to do it ?

4 It took 4 days for 3 boys to pick up a pile of

stones. How long would it have taken 1 boy?

5 Five boys have enough hand bills to distri^bute

to keep them bu.sy for 3 hours. How long would it

take one of them to distribute all of them '.

17 - one-half of 18 =

20 - one-third of 12 =

19 - one-seventh of 14 =

One-sixth of 12 -I- 7 =

One-half of 14 -1- 9 =

One-third of 1» + 8 =
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16 - one-fourth of 20 =

15 - one-sixth of 18 =

20 - one-ninth of 18 =

One-fifth of 15 + 9 =

One-tenth of 20 + 11 =

One-eighth of 16 -H 7 =
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1 Jennie had 19 cents. She .spent 5 cents for a

ball, 8 cents for a doll, and 2 cents for gum. How

much liad she left?

2. If nuts are 4 cents a quart, h<.w much will

Fred have to pay for 5 quarts?

3. At 16 cents a pound, how much will 8 ounces

of raisins cost 1


